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03, T V5T S T T gmam arwar [Ans: c]
@19 ()20 ()21 @22

4 “Take to Task’ synonym is ~ (Ans:a]
(a) Calldown (b) Approve (¢) Endorse (d) Allow.

05 Martin Luther King Jr. had a dream of: [Ans: c]
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06 Who is the writer of the poem ‘The School b (Ans: b]
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16, TTCAR (€ offs RS 30 A7 TR (3 T 10cm A GRS S TS @1
@
(a)31.42cm/s (b) 35.4cm/s (c) 40.45cm/s (d) 6042cm/s

SR (a); v = wr = =0 % 10 =3142em/s

17. 150kg St < % 40m/s <ot T TR B fr Goffer | @ T 30kg STH &
AT 105 M3 forwa 708 o | D3 77m con ey
(@) 30.33m/s (b)33.33m/s () 4033m/s (d) 4533m/s
SRR (b); 150 x 40 +30 x 0 = (150 +30) xv v = 3333m/s
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T (a); W = FScosd = 2 X 0.05 X cos60° = 0.05] 1 7 Scm o7 1 Sm T Bew &9 5]
@ option (a).
20 T, p =2

{Ans:g]
(@) 5.5 % 10"2kgm™>  (b) 5.5 X 10 %kgm 3 (c) 5.5 x 103%kgm™3 (d) 5.5 x 103%kgm®
21, fS T R iR 509 TU0S @63 I braf T e T

@21 (b) 2.50 =t () 2.75 % (d)225 &

T () T o Vi o T i

T\

22, SR PR @T% n =7

(2) 4 x 10*°Nm=? () 5% 10**Nm=2  (c) 6 x 101°Nm™2
23. b T iR

= (15)2=225
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(d) 7 x 10*°Nm™
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24 RIS a3 crem Wi BTt 27°C e g T S0 | Qe T 67° § SRS T
BT B T T
(a) 1.14835 x 10°Nm~? (b) 1.14835 x 10°Nm™2
(¢)1.14835 x 10’Nm™2 (d) 1.14835 x 108N m ™2

2
e (0); p = 22 x 101325 x 107 = 1.14835 x 105Nm™?

25, 100°C S 2kg s 100°C Srrmm I~ s Fe, i e 7 or
@121 x10K™  (b) 121 x 105K (0) 1.21 X 108)K~  (d) 121X
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A
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(2) %S (b) AT (o) AR wae  (d) Qs &
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(a) YT Ok aucal (c) e (d) @WEE aw
SiE qgorm. (Ans: ¢]
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(¢) 3fcma AP worTs ar o T () e
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. PR R TR (o YR S 6T T

(a) s 2y (b) e APy () B 3T (d) =y
39, 13¢-0 G e wr
()6 ®7 ©13 @4
40, S u d v m or TR [Ans:
(a)2% b)3% (©4® @s®
41, BBER W @S B 4 A [Ans:
@3d (b)4d (©5s (d)4s
42. Ca(OH),(aq) + CO,(g) - X + H,0; 3R X amfo. [Ans:
(2) Teme (b) *Fm (c) T i (d) g
43, 25°C e AgCl a7 K = 1 x 10'%; AgCl @ a7 Fe?
(2) 2.0 x 107 molL~? (b) 2.0 x 10~SmolL™!
(€) 1.0 X 10~ molL™* (d) 1.0 x 10" molL"?
Tng: (blank); Ky, = 52 s = (Ko, = 10°mol LYK, = 107 g el
105molL“* W option-c.
44, FTITRGI N = 2 qR £ = 1 T KOG TR {Ans: ]
(a)1s (b)2s ©2p (d)3d
45. A+3B 2 C+ 2D R K, @@ 7w
2
iy O ox-E
46, [Ans:a]
(a) 0.IM HQ! (6) 0.1M Na;CO; () 0.1M NaCl (d) 0.1M NaOH
47 ot e aaB- [Aus:g]
(a) otreatrR) R (b) T R (Q)errEmfrgama  (d) @RvRan
48, H,S = 2H* (aq) + $2-(aq); ¥R T H, S < Frrrem 4 o [Ans: d)
(a) S8 T (b) e A (c) faeores angreay (d) =t anq
49, IGIER wLo IR TEHT: (Ans: ]
(a) W 757 (b) Afiae 783 (c) TR a5 (d) TEETE 357
50. G W s-p WG 952 [Ans:
(a)Hy (b) HQl (¢) SO, (d) BCly
51, FeafiE (0, WS At TREERR @ e {
(a) sp (b) sp? (©)sp® (d) sp’d
52, a3 R IR feawe el e @ v o s v
(a) Bry/CCly (b) LiAlH, (c) Na/C,HsOH (d)NaBH,
53. O s ey 4
| (a) PhCH,0H (b) PhOH () CH;CHO (d) HCH(
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@ CHS (b) NH; (©CN" @) H,0
55. oS PP A fAns:b]
(@ R ©) D (o) o (d) e
56, SRS IR A HNO, 07 Bfisam s wem amy
Chec Ok (EEEmiE  (d) o
NHy oH
wron (0:0)+ HNO, O M+ho
57 SnCl, + 2HgCl, = SnCl + Hg,Cl, AR {Ans: ]
(i) Hg @7 T 77 +fRagA 2 (ii) Hg <7 wRe TR "R 1
(i) €I @@ et 7 387 O
fsa vt Adwe
@i ii (b) i, iif (<) i, i ()i, i, it
58. e e {Ans: d)
(i) Acrereren fim e @ (ii) Tovifre Pro 3w =
(iii) *fo ST @ R PR age &
itea s far
@iii (byi, iii (©) iy i ()i, i, iii
5 =31
59 mBAM = (-4 2 7]mm1=m
0 1 2
5 1 -3 s -4 15 -3 -4 0 5
(n)[—4 7 2] (b)l—:i 2 ‘1]] (c)l7 -4 zl (d)[z 1 —3]
02 1 1N 2 2 0 1 7 21
e (b); M7= MT
5 03
60. l—z 1 4‘«4::!%% {Ans: a]
7 27
@10 ®-10 ©8 @s
5 0)_
e @) [5 o] =10
6l S={x€N:9<x*<36) W sup$ @Y [Ans: ¢]
@3 ®)4 ©6 @18
62. {4n2 = Sy fAns: d)
@i b1 ©-i -1
63. 7x2 = bx + 8 = 0 Mwetn woft T oty Reosy b a7 7 e
@7 ® 67 ©F @F

m:(b};n+2u=;; a.Zu:;:Za‘=§=Z4~:%=; ab=6y7
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64. @xa =t ()
@0 1 (c)i @-1
RR: (a); @ x 3 = fi(al[3] sin0° = 0
65. <D Y01 AT TN (5,2); 744 aafs s AR wafa T (3,7) T
@
@) (5,-3) ®) (5,-1) © (0.-3) @ (7.-3)
e (d)s 22 =5 ; Ha2ax=Tiy=-3 « (x) =(7-3)
66. X+My-mmﬁxuymwm P 6 Q e @7 @@ @R OP ~3.0A=0 I m @
carty
@2 ®)3 ©1 @-3
mm:(h);%»,{ﬂ A0P=m 0Q=1 .m—3=0=m=3w 0AF0Q « TwE,
67. 5x =12y = a G x2 + y? — 4y = 0 q4s ™4 I 1 @ T FAD?
(@)52 (b) 100 ©4 (d) =52
T: (blank); 5 (02), 3 =2 4351 o[22 = 2 524242 426 22 =2,-50
68. x% -2y = 8x + 6 = 0 R Mg FAT?
(@) (4.5) ®) -45) © (4.-5) () (~54)
T (0)y X~ Bx ~ 2y +6= 0= 7 — B +16=2y +10 = (x— 4} = 4.5/ +5)
69 25x? +36y? = 900 TrTI FmcFa TR I AT
(a) 25x —36 =0 (®) 11x =36 (c)ﬁx—zs:u (d) vIix +36 =0
O Oy 4 D= 1 R =4 o=+ 2 VT 36 = 0T+ 36 =
5
70. f(x) =x2 —1,g(x) =%w (fog)(1) = camoy
@0 ®) ! () -1 @ -2
2
waf(a);(fog)(l)v(‘l—’-;) —1_;1—17_171 0
71 (%) = oty Ans
(a) 5¢—X (b) e4*~® © '.“E': (@) aea*-®
72 aﬁ@ttm4r+%%mwﬁmmﬂﬁﬁﬁ«wmtm#ﬁm»
()40 (b) 44 (c)45 (d)50
T (b) 3 =4+3= 4+ IS0 gy
73, [ =2 = oty
(G-mF

s N .
@-36- 4 ®);6-4 ©3G- 49} @-16-

w(a),f 14_[(3 x)dx = u%x]—j %—
3-8 5
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24, [ cosx ™™ dx = oS [Ans: ’ ‘

(@ cosx (b) ecosx (¢) sinx @ e
75, xF.x = 6@y = oo v S T v S
@16 (b)9 ©1 @18

8=1.63=9aww

76, sinf = T1sin30 = oy

A
®?2 [ ©3 (O

e (blank); in36 = 3sind — 4sin’ 6 = 3. iﬁ— 3

77, ABC fagmma = 13,b = 14,¢ = 15 T AABC = @A?
(@80 (b) 85 ()90 ()84
g (d); S = ‘%*‘ =21 0ABC = fs(s—a)(s~b)(s—©)
=2 x (21~ 13) x (21— 14) X (21 - 15) = 84

78, sec75° @ M @2

O 635 ©3F
®_1 - v ____
TR (8); Se€75° = oo iasrrany ~ cosvsreonio-smasr o~ LA LT
w7
9. X={25639), ¥ =(3591221}. ¥ & civa &S T 2OTA 1 T A X NY &
TR T T
: 3 : s
OH [CH ©3 @z
R Q5 XY = (2,359}« P=t=1
80, 2,3,5,12,20 v < @b [Ans: b

@0 (b) Nothing ©)20 @1
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